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Note :  Answers may be written éither in English or in Hindi; but the same medium should be

used throughout the paper.
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Attempt any four questions.
All questions' carry equal marks.
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- 1. Explai'n how the foundations of the Ancient Regime were challenged and undermined by

enlightenment philosophers and writers.
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Women and the poor played a major role in the French Revolution but benefited the least

from it. Discuss. .
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How successful was the French Revolution in creating a new ‘Political Culture’ ?
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Napoleon Bonaparte’s empire marked a period of revolutionary reforms both within and eutside
France. Is it correct to say that his reforms both preserved and destroyed the ideals of the

French Revolution ?
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In the short-run the revolutions of 1848 failed to achieve almost all their aims, however.
it is clear that the r_evolutions were truly revolutionary. How far do you agree with this
assessment ? _ ’ |
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In what ways was the experience of industrialization different for European countries which

industrialized after England in the nineteenth century ?
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French economy in the 19th century showed signs of ‘retardation’ and stagnation’. How far

do you agree with this statement ?
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. How did industrialization affect the class structure, family and women’s work in Europe in the

nineteenth century ?
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‘Italy was united by wars, treaties, foreign help, financial interest, utopian ideals and a large

dose of good fortune.” Comment.
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‘Discuss the causes and consequences of the growth of nationalism in the Balkans during the

_last quarter of the nineteenth century.
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